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riEE/ Section-A

1 ffifud erfr dg-smfrq c{fr S vdrq Afuc,
Answer the following very short answ€r type questions: 1x10

(a) qo d orcrar dt vfurftr o{ r Define Assesses in Default.
(b) eB src 6\ ft-*.q dI'q rcri srd frqr * 3nq t qr snw t r

What is the meaning oflncome from operation to make Agricultural produce
saleable.

(c) o{sm irt oT iFn orTsrq t t What is the meaning of tax free salary.
(d) qr+o ft-trqr 4qr t I What is standard rent.
(e) o'ea* w ffiqa qs d {t Tdr{} |

Mention the depreciation rate applicable for Computer.
(D sa olfrk qqfuqi imr t I What is self generated assets.
(g) c[q qrE=il t erq or wr orcrq t r

What is the meaning oflncome from otler sources.
(h) qrir 80G d oet& d et {dr{i t State th. rates of deduction r.r/s 80G.
(D 3Tff-de E-qrd @r t I What is appellate tribunal.
()rr d awrtit o) a-arqi ftffi+ ftg ftffi qfu + fi-F< 3rMs{ d 6rffi d qr

wffitr
State those two offences which make a person liable for prosecution.

2. ffifuo ag-veSq crfr 6 sffi Afus 2x5
Answer the following short-answer type questions:

(a) qfr onq ol we dfuc I Explain agriculture income.
(b) 6*9-€ +q.A +1 ,r,nr d rrevr+ q-drsi 

r

State provisions for calculations for free eqaltity.
(c) rnh-o ordt d 6Ctff 6) Tqsr{i I Explain deduction ofpreliminary expenses.
(d) 96 qfu or<rm $ ftg at ftqlqsr qd zozo-21 + ftg or{6i a1 <rt o} frfuc I

Write the tax rates for an individual assess for the assessment year 2020-21.
(e) ffq;ra n sr0-d +.q frsq dt{-ot{ t t? +l{ sR fttuq r

What arc appealable matters to Tribunal? Write any four.
qEs/Section-B

Frqfrfua Ad qsffq crri d vfi{ Afrs t2\5
Answer the following long answer type questions:

{6rE'l Unit-I
3. "qrq-6{ m orsrdr d Flqrfrq ftxh qc t +{ 6Tdr Br" qft-FR f+nrrr frfuc I

"Income tax depends upon the residential status ofar assesses". Discuss in
detail.



?flrsr/or
,ft qrwgqn 'ri$ \ro ql{ftq qFrR-6 ttqe r oFrw zors a) grg d go ffi tt cH

6{i AE rrd {ti r qr{ zozo 6T {d qr{d srfi-{ oni .rd s{ d s{d qrmt or fuflq frq
qatt 6 -
Mr. Rajkumar Gandhi is an Indian Citizen. He went on I st August 20 I 9 for

service in a company ofDubai and come back to India for two months on lst
March 2020. During the previous year his receipt details were as under -
(i) rrqgq Rsrd q-on fiqft d 6{ r}"q 3rrq ZZ,loo

Taxable income from house property situated at Raipur
(iD g-{E d w E{ d crq iqm gr{ t m fu'*r 1,ti rnw d-w 11,040

Interest received ftom a firm in Dubai and remitted to India
(iii) qrrffq srffi F{ * onq 24,OOO

Income from Indian partnership firm
(iv) qo fri* Eirff A ci{it cy dFricr ftlcr i yrq fuqr 9,000

Dividend on shares ofa foreign company received outside India
(v) qrrftq ER eirq t4,4OO

Indian Agriculture Income
(vi) so qrfrq qiq-+ + *urq-jt or qrq gc{ t fi< fr-qr 2|,600

Interest on debentures ofan Indian company received in Dubai
(viD qrrfrq ?irff * drqiqr 6,000

Dividend from Indian Company
(viii)gd it rffi{ 11,s2,000

Salary in Dubai
(ix) rr+gr i fur+ 1ft w +6ff i eirq 16,200

Nursery income land situated in Raipur
(x) rrqgr i qrqri * 3nq:-

Income from business in Raipuri

1or) torfazors * lEar{zore cfi 57,600
(a) From I st A.pril2019 ro 3l stJuty20 t9
(e) rorrwzors * srqrdzozo F6 72,000
(b) From I stAugust2o19 to 3l sMarch2020

(xi) erffio qfrq ftfu * *rw g.pqn 12,000
Payment from public provident fund

sq-d F-4rs fu.rfld MR-d dftg G ,rn ( d Er ?iFq qrq earqi t

Determine his residential status and gross total income.

F6rE'/ Unit-U
4, +f,{ ltfo d oid,fd 6{gF r<I 1,ti or+tw ro} or q'Fc dfuc r

Describe the tax free allowances and taxable allowances under the head salary.
iI'xIqI/ Or

ft. tF'-dr ftiE, qt \.6 s-4ai d qrqlt + Td +qri-d t, F-r-furf{ur q{ zozo-zr d ftg
3rqff onq ET ffq ftfisr nga oG d oir enr*\ q{d tfr{ t crq d ryrtr 6{ff t :

(l) t.a.zors ol W f,rr { 32,000 qrfu6 
t

(2) q€.r{ qGT < 4,000 cfr qrd in +sr-Fqfu d arii + fu cnfud fuqr qrdr t r

(3) gq{ { w orgsFw ron fa-+ frxr} +t Frq}ffr + < 25,000 qrfun fu-im gorqr I

(4) mffr i ft. s-ffr Ri6 gs v{rd cRqR d ftfrmr gfrvrofi w rrd q{ q ffifudqqFlt:
(i) ffi Ris qt fffi 3rsara { frfo-er qs qq { 7,800
(ii) ft. RE d * @ uw onltrt) d \'in yr{ic d-ec dr*r f{+ .r} frfu-erotq Rrqyf

d $iiq + {@ { 1,200



(iii) Frfdr i emq ffqr fq+ $ oir,l+ E fila d er*eq q{ {5,000oT ffRqq gsrqr
r ftaqr, zors d ssS ffi6r i ssd +sI d lrd + cMr 6ri d fl+rT dt q+fu
oqff d erFto fu1ft q{rq S I cffild vd ftq aff ,

(l) i.e.2o1e * W i-ac { 25,000 qrfu6 
t

(2) q&rT{ q<T < 2,000 crfu6 I

(3) frNrn + g6 q-61a ag fi-$rn 1

tS qMr d ftri sow rli w rrd d cMn + frs fr+6r i sS { 1,20,000 d
vc-gr+ vRr ff t ssd Fr+ffr i r.o.zors o\ vt gvni E{fdr { 20,000 t is ftqr
ft-ror 5e rl'zott dr { 1,00,000 eTr I
qc qn dlic fu trq qre d <riftq R-q tq drrr t r

Mr. Fakir SinglL an employee with a fumiture dealer submits the following
particulan ofhis income for the AssessmeriYeat 2OZO-21and you are required
to compute his income from salary:
(l) Basic Salary on 1.4.2019 ? 32,000 p.m.
(2) Deamess Allowance at 14,000 p.m., which is taken into account for

retirement benefits.
(3) Free unfimished accommodation in Mumbai. The rent paid by the employer

is 125,000 p.m.
(4) The employer paid following expenses upon the medical facilities ofMr.

Fakir singh and his family :

(i) Treatment of Mrs. Singh in a private hospital { 7,800
(ii) Fees for medical consultancy by a private doctor to Mr. Singh,s mother

(dependent upon him) t 1,200
(iii) The employer paid an insuraace premium ofl 5,000under a health insurance
scheme on the health or Mr. Singh.
On lst September, 2019 his employer requested him to revise terms of
employment due to the bad financial position ofthe company. The revised terms
'were :

(1) Basic salary t 25,000 from 1.9.2019.
(2) Deamess Allowance t 2,000 p.m.
(3) No accommodation to be provided.
For this revision in his terms, his employer paid him a lump-sum of t 1,20,000,
when he agreed to such revision.
His employer also sold him on 1.6.2019 old fumiture for { 20,000. The cost of
fumiture on 1.4.2017 was { 1,00,000.
Assume that salary is due on the last day ofthe month.

'6rE'/ 
Unit-Il

5. qrcri d cnq d rrunr t 3rrq6{ srEfrqrr 1s61 d gir.fa weoqr ffigd o"}friit 6iq{srg} 
I

Explain the deduction expressly allowed in computinor the income from
business under the Income Tax Act 1961.

fr w. s. sd{r, q* r*e -**3Yf;ttuq} 6r.rd s{ zors-ro t
ftqfufud ft-{i,r d erErx 5wr<rw fr-+ :

(ot)-w€ti orrtr ffi+ w @ o{ zooo-oz d s{d ft-dr + snr < 3,00,000 d or.rr *
ftfita Eur w ciy ftild s€ti q{ s-l zoro d furmo { qrqr er) srq ffiq sd n
< 27,98,57t ;t isr r *r+ M t < 2 dr-q sd $ (mi < 80,000\,6 firs+{ri orqon srfr orri or leqr .rqr er-{ fi ynR-d O I .rd s{ + 6 ffq qre d citr4n s€ti qrtt
q{ ? 21,87,000 it qqi {6i d fr( rq 6{ ftrqr r



(q) E€fi 3T[ff qEr qr{wfufi q!t+i I if,qfl. 20is 6) { 4,50,000 it +s {t I qct=t q{
2oo8 t {5 Ers tt mq d rr{ S eils r cri-d, zors oT soi6r erftfur 1a.<2dlq ent

{s qqfu d d-o q<'ro qd zors-zo d ftc a€ d iffqd <* 25%yfr s{ eftt
(s) s-<}i orrS go ffi refuttr rft t-ff-
(i) qt< on 1ftr* zooa t { 40,000 d rq tuqr qr) { 60,000 t .ii{
(ii) 31ryq @i reao il t 3 drs t Fq fuqr. fur6r Rfud crlTn {@ I erfa, zoor-oz
ol t 16 dlg en) t 54,80,000 + +i I

(<) {q{s it Rrd s6 {E Fr d-c N zoos-oo fi I 8,50,000 ii r+ fu-a1 Qr,

{14,20,520 + isr I

(a sicr fcr€ zoorro i ? 2 arq rq fuqr elT rrd q{ d < 3,15,500 t iA I

EE gi Ec sS A i .rd dfr ftfuio Fqr5sn t :

F.*qr fd-ffiq s{ drrrd qfrB ft{qrio
1 2001-02 100
2 2005-06 117
3 2006-07 122
4 2009-10 149
5 2019-20 289

Er fiqiqsr E{ 2020-21 A f&q {d arq Ptfu d niffi srd qlq d.rol{r o1fuc I

Shri S.D. Saxen4 a resident individual, transferred his following assets in the
previous year 20 I 9-20 as per particulars below:
(a) He sold his residential house in the current frnancial year (constructed in the
year 2006-07 at a cost of { 3,00,000 by his father and inherited by him in
June2ol0) for I 27,98,571. He incurred t 2 lac by way of selling expenses
including < 80,000 paid to a tenant for getting the house vacated. Within three
months in the same previous year he purchased another house for I 21,87,000 for
his own residence.
(b) He sold all ofhis business machines on lst oct.,20l9 for { 4,50,000. The
machines were purchased in June 2008 for { 5 lacs and their written down value
on 1st April, 2019 was { 2 lacs. The depreciation rate applicable for the previous
year 2019-20 was 25% p.a. on the block ofassets.
(c) He also sold the following personal assets :

(i) Motor car (acquired in 2008 for t 40,000) for ( 60,000, and
(ii) Jewellery (purchased in 1980 for < 3 lacs, Fair market value on lst April,

2001-02 was t 16 lacs ) for t 54,80,000.
(d) Sold a plot ofland in Lucknow (acquired in 2005-06 for t 8,50,000)

for I 14,20,520.
(e) Sold shares (purchased in 2009-10 for { 2 lacs) for { 3,15,500 in the previous year

Compute his income under the head Capital Gain for the assessment year 2O2O-21,
The cost inflation index for some selected years are as follows:
Sr.No. Financial Year Cost Inflation Index
1 2001-02 100
2 2005-06 117
3 2006-07 122
4 2009-10 148
5 2019-20 289

q6rEl unit-Iv



0.!g f{5 3rfu fud cRsn $ 6{ Fqfuur d r{r*T d srm6r srEftqq d crqqnl or sfidftql
Discuss the provisions of Income Tax Act in respect of assessment of Hindu
undivided Family.

Frefrfur qnrsfi n o*-flfil*or s{ ,H/"i*" tq enq-E{ d .ror<r ailBs:
(or) ss o$u S S"f,r d Ed crq { 4,00,000 t I

(q) oz sffq ffi Es-qrs st gd qrq { 5,00,000 t I

(s) ea eff+ ffi g.ar d Ed sr1-q I 11,00,000 t I

qr qn ti fu S g"or d ga ene n ffi+ {fr en t 50,000 *tlff ern+ra d q-a
qrq tf ftffic {fr dFr { 1,20,000 (qi vrdr erErftd crwR-o ols A {fui qr Beq
SI.t) n'an N f* t anq ti ffffic {fr aF{ d t 2,00,000 (d ern l12A d
3riFrd srfl E) 6t slq qfqtad B I

Calculate the income-tax payable in the following cases for the assessment year
2020-21 :

(a) Total income of Shree Gupta (aged 55 years) is t 4,00,000.
(b) Total income of Smt. Agarwal (aged 62 years) is 15,00,000.
(c) Total income of Smt. cupta (aged 88 yean) is I 11,00,000.
Assume that the total income of Shree Gupta includes long-term capital gains {
50,000, total income ofSmt. Agarwal includes long-term capital gains I 1,20,000
(which is arisen on units ofequity oriented mutual flrnd) and that;f Smt. cupta
includes long-term capital gains ofl 2,00,000 (which is covered u/s l l2A).

{6r{'/ Unit-v

7. orfe.r€ + qiiiq { srr{sr orfufrqq d rgu rrotn=it or auh dftg ;

Discuss the main provisions oflncome Tax Act regarding penalties.
?r,I4qt/Or

cr{6{ lrftott d}t-ot{ + d? s{d aftfiri srsr{} I

Which are the various Income Tax Authorities? Discuss their powers.


